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Section A (30 x 2 marks)

For each question from 1 to 30, four options are given. One of them is the cormect

answer. Make your choice (1, 2, 3 or 4). Shade the cormect oval (1, 2, 3 or 4) on thé
Optical Answer Sheet (OAS).

1.

Study the classification table below.

Group E: Group F
beetle " - yeast
giraffe toadstool

paramecium morning glory

What characteﬁstic(s) can be used io_da_ssify them into groups, E and £?

A nutriton
B8: movement.
C: body form :

D: method of reproduction .

@) A only
2) B only
3) A and D only
4 B and C only

Study the diagram below.
Pollen
grains from | ——
male flower Process X

Female
flower

| The ovéry
"| becomes A

Process Y

.| Theovule

becomes 8
Which one of the foflowing correctly identifies A, B, X and Y2
Parts of the plant Processes
A ‘B X Y
1) fruit seed fertilization pollination
(2) seed fruit pollination fertilization
3) fruit seed pollination fertilization
(4) seed fruit fertilization pollination

(Go on to the next page)
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3. Study the diagram of the flower below.

What will happen to the flower if P is cut off?

A: Fettilization will not be possible.:
B: The flower cannot produce pellen grains.
C: The flower will wither and die immediately.

(1) Aonly
(2) Bonly
(3) AandB only
(4) Band C only

4. The diagram below shows how blood flows in certain parts of the body asfew Hours after a
. ~. 4 [1 '
lungs
A
A
< heart [«
X Y
small intestine >

When compared with the blooed in Y, the blood in X has

(1)  more carbon dioxide and more digested foad.
2) maore carbon dioxide and less digested food.
3) less carbon dioxide and more digested food.
(4) less carbon dioxide and fess digested food.

(Go on to the next page)
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Joanne soaked a red bean in water and removed the seed coat. She then split
the seed into two halves, S and T and placed each half on a petri dish {aid with

damp cotton woo! as shown in the diagram below.

shoot

damp cotton wool

petri dish

She placed both petri dishes at a dark comer.of a room for three days. She
ensured that both pieces of cotton wool were kept damp. Which one of the
following would she obseérve on the third day of her experiment?

© ()
@
@)
)

Both paits S and T-remairied unchanged.
Seedlings.grew from both parts S and T.
A seedling grew from part T but not from part S.

b

A shoot grew from part S while a root grew from part T.

Study the table below.

A tick () indicates the presence of the part of a cell.

CellA | CellB | CellC
Nucleus v v N
Cell wall ¥ ¥
Chioroplast N

Which parts can cells A, B and C be found?

Cell A CellB CeliC
(1) root cheek leaf
(2) root leaf cheek
3) cheek root leaf
(4) cheek leaf root

(Go on to the next page)
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" 7. The graph below shews H#ieydliimes. af the lungs of various adult manimals
' compared to their body masses!

Graph to show how tung volume varies with
body mass in seven different mammats
10 - : ; T2
- - . dolphin
9 : - : 5
— == ===t
«
g 8 =
K=
g :
C 6 —— pg
=2 o =
“6 S SR
@ — human
£ 4 goat —=
= P -
O . . sy
s 3 = =
2 2
raccoon P2t dog
1 41—t
a7 1
o 2% rabbit
I . .
0 10 '20 30 40 50 60 70 80 80 100
Body mass (kg)

Based on the graph, which one of the statements is correct?

(1) The greater the lung volume of the mammal, the smaller the size.

(2) The greater the lung volume of the mammal, the greater the body mass.
(3) . The greater the body mass of the mammal, the greater the lung volume.
(4) The smaller the body mass of the mammal, the greater the lung volume.

(Go on to the next page)
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8. The diagram_shows a ginger plant and a beetroot plant.

Which of the following statements carrectly state the similarities between parts E
and £?

A Both parts store food. ‘

8: Both parts are underground roots. « . .
C: Both parts absorb water and mineral salts. -
D: Both parts anchor the plants to the ground. "

(1) A and D only
2 B and C only
3) A, B and C only
“4) B, C and D only

(Go on to the next page)
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10.

Study the food web below.

A decrease in the python population is likely to cause

/ / maize "
python / -

grasshopper

an increase in the bird population -

a decrease in the eagle population

an increase in the maize population

a decrease in the grasshopper population - -

A and B only

C and D only
A, B and D only
A, B, CandD

A camel is well suited to live il the desert.
Which of the followmé sfatements are true about the camel?

P:
Q:
R:

(1)
(2)
(3)
@

Camels have humps that store a large amount of water:
Camels have padded feet that protect them from the hot ground.’

Camels have fong eye lashes that prevent sand from being blown into
their eyes.

P and Q only
P and R only
Q and R only
P,QandR

(Go on to the next page)



'11.  The diagram shows a food web,

bird feeder - plait saeds

>

Which two animals in this food web are not.in ditect i:dmpetiﬁon with each other
for the same food? ;

(1) ant and mouse -

2) lorikeet and skink

(3) kookaburra and skink

4) kookaburra and lorikeet -

(Go on to the next page)
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" 12 Kelly wanted to find out which type of solil is suitable for growing cactus, balsam

and lotus. She collected 3 different types of soil X, Y and Z and placed them
each in a funnel lined with filter paper

Measuring Measuring . Measuring
cylinder — | cylinder ™ | cylinder

‘ mtéf’\mteﬁhta@%@ﬂﬂ%ﬁ timed how long it took
for the water to completely flow into the measuring cylinder. The table be]ow
shows the results of her investigations.

- _ " Soil X_ | -SoilY Soit Z
Amount of water collected 8 ml 47ml . 21ml
Time taken to collect water - 18 min 1. min . 9 min

Based on the above table, choose the most stitable soil for each of the plants.

.F | cactus ' balsam . lotus
@ | SoiX Sl Y ' Soil Z
2 Soil Y _ SolZ Soil X
@ |  soiz T SsaiX 1 Sy
@ | saiX - sz | Soil Y

(Go on to the next page)
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14.
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Tﬁe diagrams below show the teeth of Animal R and Animél S.

Animal R

Animal S

Which of the following deduction(s) about Animals R and S is/ are correct?

A, B,CandD

True False | Not possible to tel
A | Animal S is a herbivore <
B | Animal R hunts in a group N
1 C | Animal R eats only plants ]
-| D | Animal S eats only plants on fand -+
) Aonly -
2) A and B only
3) A, B and C only
(4)

Meiling transferred a pot of rose plantto a sunny corner of her garden which
was covered with grass. She watered both the rose plant and grass daily. A few
days later, she found out that the grass that was covered by the pot tumed yellow

while the pot of rose plants grew healthily.

Which of the following reason(s) is/ are cotrect?

A
B:

C:

(1)
(2
3
4)

The grass could not photosynthesize so it tumed yellow.
The grass did not receive enough water as the rose plant competed with

it for water.

The grass had tumed yellow as the mineral salts were all absorbed by the

rose plants.

A only
C only
B and C only
A and C only

—

(Go on to the next page)
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The 2 graphs below show the relationship between the rate:of photasynthes:s of .
sea'weed and the depth of sea water.

e A’x 1x
P

2 °7 247
2 57 2 57
24 247
c 3t O ql
3 £
S 271 & 2
L .

£ 1+ © 1+
o

& 1 2 3 4 5 ¢ 7 0

ughmwas‘éy

Which one of the statements is true based on the graphs above?

(1)
@)
(3)

@

The rate of photosynthesis does not depend on the depth of sea water.
As we g6 de€eper into the sea, the more likely we are to find seaweed. :
The greater the light intensity, the higher the rate of photosynthesis.
The highest rate of photosynthesis of seaweedisat2m. -

The table below shows the freezing point and boiling point for 4 different

substances, A, B, C and D.

Substance Freezing point (°C) Boiling point (°C)
A 16 114
B8 -8 36
c 41 180
D -103 -36

¥

Which one of the following represents correctly the states of each of the
substances A, B, C and D respectively at the temperature of 29°C?

States of substances at 29°C
A B 3 D
(1) Liquid Liquid Solid Liquid
2 - Solid Gas Liquid Gas
3) Gas Solid Liquid Sold
4) Liquid Liquid Solid Gas

(Go on to the next page)
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17.  Study the flowchart below.

Does it conduct electricity?

No

l

Does it melt?

' :

Yes No

p Q

Yes

l

Is it attracted to a magnet?

!

Yes

R

:

No

S

Which one of the following-correctly represents P, Q, R and S?

P Q R S
el cotton paper - iron . paper.
2 paper; cotton’ copper . wood "
3) wood wax . aluminum steel
(4) wax wood’ steel aluminum

18. Four identical containers holding different types of matter are shown below.

WAV .

L XL XXX ) ping

00000006 .

,0.0.0.6.0.1.0.4 -P ng
marbles 20000000 oalls

00 ¢ 09009

00090008

OO~

A . _ B C D

A jug of waier is poured into each container at the same time. The water is
poured in at the same rate.

Arrange the containers in 6rder, starting with the one that wilt overflow first.
overflow first ——» Ioverﬂow last

(1) B,D,AC

2 ACDB

3) C,B,AD

4 CADB

(Go on to the next page)
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20.
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Thé diagram below shows a b’rece of styrofoah fioating in a basin of water. The
diagram is not drawn to scale.

floating styrofoam

basin ——

water

A plastic cup is inverted over the styrofoam and held down. Cups A and B have
no holes but cups C and D have a hole each.

hole

Which of the above diagrams show what could possibly happer; to the styrofoam
and water? :

€)) A and C only
(2) B and C only
3) Aand D only
) B and D only

‘Two puddles of equal volume were created on the floor at the same time from

fwo different fiquids. Mary drew a white chalk {ine around the perimeter of each
puddie every hour as the liquid evaporated. ‘

The diagram shows her observations for 3 hours.

PuddleY -Puddle Z

Which one of the following is the best conclusion she can draw based on her
observations?

(1) The size of the puddle affects the rate of evaporation.

2) The liquid from puddie Y and puddlie Z evaporated at the same rate.

{3) The greater the surface area of the puddle, the faster the rate of
evaporation.

4 The liquid from puddle Y evaporated at a faster rate than the liquid from
puddle Z )

(Go on to the next page)
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21. The electrical circuit of the traffic lights are designed in such a way that only one
light is lighted up at any one time.

Study the circuit diagrams below-with the help of the key provided. Which one of
the circuits is most likely used for traffic lights?

Q)
Key
R: Red light A: Amber light
G: Green light  S: Switch
electrical _
supply
(2

7

supply 7]/

(R)
electrical —- sl 6
©

S

J
electrical

supply _

E

@ s/

e!ec{ricat.‘.a—s/
supply —31 S @ ‘

(Go on to the next page)
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22.  The diagram below shows an electric circuit. P1, P2 and P3 are different types

-of materials.
1]
T B1,
- B2 > St
| e
. B3

P3 : ]
8' s2 -
P2 ‘.346 3
B85

Ahmad observed that only bulbs B1 and B5 lit up in the circuit above when
both S1 and S2 are opened. Which of the following statement(s) is/ arevpofrect?:

A P1 is a conductor of electricity.
B: ' When only $1 is closed, B1, B2 and B5 wdl light up.
C. When only S2 is closed, 81, B3 and B5 will light up..

(1) A only
2) A and B only

3) A and C only
(4) B and C only

(Go on to the next page)
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23. A box was released at P of a ramp with surface A. The time taken for thie box to
reach Q was recorded.

Surface A

Q

The experiment was repeated on another three identical radipé with different
surfaces, B, C and D. The results obtained are shown in the table below.

Type of surface Time taken from P to Q (s)
A ' 20
B 4
c 1z
D 9

Which surface, A, B, C or D shows the most amount of friction between the
surface of the box and the sutface of the rarnp?

(1)
(2
(3
(4)

oOw>»

(Go on to the next page)
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24. The diagram below shows 3 metals, Metal X, Metal Y and Metal Z.

e

Metal Y

Metal Z

The ends of Metal X, Metal Y and Metal Z are brought close to one another to
test if they repel or attract one another. The table below.shows the results.

c . Atfract Repel

Metal ¥ D Repel Attract

Metal Z E . Attract Attract Attract Attract |-
F Aftract Altract Aftract Aftract .

Based on the results above, which of the following statement(s) is/ are true?

P:
Q:
R:

(1)
(2)
(3
“4)

Only Metal X and Metal Y are magnets.-
Only Metal Y and Metal Z are magnets.
Metal Z is a magnetic material. -

P only
Q only
R only

P and R only

{Go on to the next page)
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Daisy conducted an experiment on 3 different types of surfaces to combare the
force needed to pull a block of wood over them. The diagrams below show the

results.

Block

spring batance

| Block

l Block

spring balance

Surface C

YE—0)

.spring balance

Surr’aoe B

Which one of the following surfaces best represent A, B and C respectively?

Surface A Surface B Surface C
1) sandpaper glass- - concrete :
(2) concrete sandpaper ' glass -~ 5
3) sandpaper concrete __glass ;
{4} concrete glass sandpaper

The diagram below shows two identical Wooten BB RS Serror gl o‘f’?hé"'same

matenal being pushed along the same surface.

Directiori of motion Direction of motion -
L G 1 G v H H
1 « 1
Start £€nd Start End

Block H was observed to travel a longer distance. Which of the followmg
statement(s) is/are possible explanation(s) for the observation?

A
B:
C:

(M
2
(3
4)

Block H was lighter than block G. _
A greater-force was used to push Block H.
A layer of water was spread below Block H. -

C only

A and B only
B and C only
A, BandC

(Go on to the next page)
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Study the energy conversion bélow.

Chemical ' | Kinetic Sound + Heat
Potential Energy Energy Energy

Which of the following action(s) show/s the same energy conversion?

A: Clapping of hands

8: Winding up a toy car.

C: Switching on the ceiling fan .
D: °  Using 2 hammer to hit a nail

) A and D only
2) B and C only
3) A, B and D only
4 ABCandD

A ball was released from a slope from point A as shown below.

Which one of the following statements about energy of the ball is comrect?
(1) Point A has more kinetic energy than point D.’

) Point C has more kinetic energy than point B.

) Point D has more potential energy than Point B.

(4) Point F has more potential energy than Point C.

(Go on o the next page)
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29. Mrs Lim was walking from point Z to paint X passing a lamp- postat Y.

Lamp post —*

X Y V4

If the only light source was the lamp post, which one of the following graphs
below shows how the lqngthofher §hadﬂ\_d. changes from:Zta?

Q)
Length
- of
shadow
(m) :
| | >
Z Y X
2 .
@ Length
of
shadow
(m)
I ] t >
z Y X
3
Length
of
shadow
(m)
‘ I T l >
Z Y X
“
tength
of ‘
shadow
(m)

Y

vt

(Go on to the next page)
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30.  Jeremy set up an experiment to investigate the effect of the'Stis's heat on paper
of varigus: eofpsts. He wrapped five cups with paper of the same type but with
difféfent colours. The five cups were left under the Sun for a number of hours.

The graph below shows the temperature in each cup at different times.

thermometer 404— 4 —

id of coloured paper & 357 // ' 1"green
£ 30 A. L T | red
s %4 N e i
o 6 4 = e ellow
a 25 7/ N AR s S Y .
NI O e o R o s
= 2 W=

] 15155
N g1 SR
paper paper cup 0 ] a 3 4
Time

Which of the colours below are best suited for the purpose shown?

Purpose
PE Attire Solar Heater
1) black ' yellow
(2) red ' . yellow
(3} yelfow white
(4) yellow green

£End of Bookiet A
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Section B1 (20 marks)

21

For questions 31 to 37, write your answers in the spaces provided.

31. The diagram shows a classification table for living things.

Living things

Plants Animals
R . With Without:
Flo Non-flow
wering enng backbones backbones
Hibiscus Lizard

(@) Write “Fungi” in the correct box in the classification table above. (1m)

(b) State a-difference about the reproduction system ‘between animals and fungi.

(1m)

(@) ldentify the process commortto both flowering and non flowering plants. (1 m)

SCORE
3

(Go on to the next page)
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32.  The diagram below shows the different stages in the life cycle of a ﬂbwering
plant.

(a) Which is the earliest.stage when the plant is able to make its.own food? How?
’ § ' (1t m)

(b) What must the adult plant do to increase its chances of having many healthy

seedlings? (1 m)

SCORE
2

(Go on to the next page)
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~ 33. ' The diagram below shows two fn.iits, A and B, dispersing their seeds when the
fruit wall ripens. -

(a)  Which plant would disperse its seed further away? (1 m)
(b) Give __tsi\’(cfpés'sm]é FEa&BHE for your answer in (a). _ (Zm)
SCORE
3

(Go on to the next page)



(a)

(b)
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When certain types of dalfs are 'p:ié'eed;in pure water water will enter the cells
and the cells sWeﬁ. When the same cells are pldess RRSUGArSBINSH, water will
exit the cells, causing themito shrivet. '

Mark had two beakers of liquid. He labelled them beaker A and B. One beaker
contained pure water and the other contained sugar solution. Mark placed some
cells into the two beakers and made the following observations.

Beaker A: Celis becamle larger.
Beaker B: Cells were crumpled up.
ldentify the fiquids in Beakers A and B. (tm)

(i) Beaker A:_

(i) Beaker B:_.

After identifying the liquids, Mark repeated the experiment with another different
set of cells. However, there was no visible change this time. The cells in both
liquids retained their shape. '

{dentify the cell. Explain the difference in results between the two experiments.
' : (2 m)

SCORE
3

- {Go on to the next page)
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35. Ali had three different types of creatures, A, B and C. He put them into two

aquadums which contalned some plants, P.

He counted the number of creatures in the two aquariums every three days for a

month and recorded his results as shown irvthe graphs below. He did not see -
any-dead creature in the two aquariums?

Number of creatures
A

Number of creatures

AqLian'um 1

»Time

4

Aquarium 2

(a) Draw afiaod:-chain in the box below to link these three creatures.

Ali decides to introduce another creature, DB, into Aquarium 2. Hé recorded the
number of creatures every three days for a'month and recorded his results as

shown in the graphs below. He did not abserve any dead creatures in the

aquarium.

Number of creatures

1

Aquarium 2

(b) Which creature is both a predator and a prey?

-+ Time

(1m)

SCORE

2

(Go on to the next page)




26

(©) Draw a food web below to link the four creatures, A, B, CandD. - (1m)-

- 36 The diagram below shows an insect in a gap in the wall.

(a) What structural adaptation’does the insect have to get into the gap based on the

diagram abaveg? . - , (1m)

(b) Explain how this adaptation is important to the survival of this insect. (1 m)
SCORE

3

(Go on to the next page)
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(a)

(aii)

27

Joshua left a potted plant at one comer of his garden. He then measared-the
rates of two processes of the plant over a 1-day period. The graph below records
his observations.

rate of -
processes |

Line 2
~—— T T T ™ T T T K] v T 3 time of day

1 2am4 am6am 8am10am12 2pm 4pm 6pm 8 pm10pm12midnight
noon

ldentify the process the plant is uﬁdergoing as represented by Line 2.

f
2

Joshua also discovered that there is no movement of oxygen and carbon: dioxide
thiraugh-the stangata, even though they are open at certain times of the day.

ldentify 2 points (A, B, C, D, E or F) in the graph which-most likely support his

discovery. Explain your answer. (1 %m)

SCORE
2

{Go on to the next page)
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The next day, Joshua placed a rcaged rat’next to the plant in the garden. He
provided both the plant and the rat with water only. )

(b)) - What would happen to the plant and the rat after a week? {1 m)

(bii)  Explain your answer in (bi). ' (1 m)

End of Bookiet B1

SCORE
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Section B2 (20 marks)

For questions 38 to 44, write your answers in the spaces provided. -

38.

(3

(b)

3.

Jenny wanted to find out which material absorbs the most oil. She placed three sheets
of different materials, A, a%aﬁew@}ﬂg; same thickness over the mouths of 3 -
identical containers as shown in the diagram below. She then poured 15 ml of Gil onto
each material. The results are shown as follows.

1 ml of oil

15 mf of oil 2milofoit -
N l ,\ BN W N ] \
Material A | - |Matedal B~ Material C
fr—— 7 il of oil Smiofoll |
collected collected

If Jenny wants to choose one of the 3 materials for making kitchen paper, which
material should she choose? Give a reason for your answer. (1m)

Did Jenny carry out a fair experiment? Explain your answer. - (1m)

Jaime bounced a tennis balf off a table. It bounced to a lower height each time it hits
the ground as shown in the diagram below.

O/k*\'\'"" """"""" e X

= 1 e

Why do you think the tennis ball did not bounce back to the same height it was
dropped from?_Explain your answer. (2m)

SCORE
4

(Go on to the next page)
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40. David set up the following experiment.

cork

water troug:h.
Conical flask .

After some time, David observed that the 60rk popped out of the conical flask. He
repeated the experiment with conicat flasks of different volumes and noted the time
taken for the cork to pop out. The resutt. of his experiment is shown in the table below.

Volume of conical flask (cm®) | Time taken for the cork to pop out
{seconds)
_150 13
200 16
250 : 18
(@) What caused the cork to pop out? (1m)

(b) What is the gglatj_qx;)g:hip betweeén the volume bf the conical flask and the time taken for

the cork to pop out based on the table above? (1 m)
(c) If the volume of the conical flask cannot be changed, what can be done to the set up to
" make the cork pop out in shorter time? (1 m)
' SCORE
3

(Go on to the next page)
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(@)

(b)

-(c)

(@

31

Study the water cycle below.

clouds 4———

rain water vapour

A 4
b .

rivers

v

seas

_plants

Draw two arrows in the diagram above to show how planfs can be part of this water
cycle. : . . . (1 m)

Which of the process(es) above represented by letters P, Q, RS ar T involve(s) no
change in state? _. (1 m)

Which of the process(es) above represented by letters P, Q. R, S or T involve(s) a

change from a gaseous to liquid state? ] (tm)

How does the greenhouse effect helg in the water cycle process? {(1m)
SCORE

4

(Go on to the next page)
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42. The diagram below shows an open circuit. The 3-way switch is made ;Jp of 4 pins A, C
D and E. A dlip is connected to Pin A and it can be moved to touch pins C, D and E:

c B1

Different
positions of the
3-way switch

@) Draw 4 wires in the diagram above to show how thé 3-way switch can be oonnectéd to

the bulbs so that we can move the clip to light up any one of the 3 bulbs. 2m)
(b) What is an advantage of using a 3-way switch system? . (1 m)
SCORE
3

(Go on to the next page)
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43, Weights were hung progressively to two springs, Y and-Z and their lengths were
recorded in the table below. .

Mass of weight (g) | Length of spring Y {(cm) | Length of spring Z (cm)
0 5 - ' 4
5 6 6
10 7 8
15 8 10
20 9 12
25 11 14
(a) Plot a liné’graph to show the extension of the spring Y. (1 m)

E

L

>-:

(o))

L

G

&

R

[

S, _

(2]

&

=

i
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(b) From the graph, explain why the extension of spring Y becomes greater when the 25g
weight is hung on the spring. {1m)

Isaac has a pop gun that works using a spring as shown below. When the handle is
pulled back and reteased, the ball will pop out of the gun.

(<) -
-y  Which spring, Y or Z, do you think should Isaac use in his gun in order to shoot a
~ Turfhier distance? Explain your choice. (tm)

SCORE
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34

a4 Johnny poured hot water of the same temperature into 3 containers, P, Q and R, made
of different materials as shown in the diagram below. He then recorded the
temperature in each of the containers at 2 minute intervals for a period of 30 minutes.

Temperature -~} -~~~ __
at the start

Container P Container Q Containér R

(@) The temperature change'in container Q was recorded in the Qraph below.
Complete the graphs for Container P and R below. Label your graphs. (1m)

A

Tem peraturé
of water (°C)

Qontairier Q

» Time (minutes)
0 30 :

(b) Based on the graph, if Johnny wants to keep his food in a container warm for as long
as possible, which container should he use? Explain your answer. - (2 m)

End of Booklet B2
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SCHOOL : MGS
SUBJECT : PRIMARY 6 SCIENCE

TERM : PRELIMINARY
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Q18] Q19] Q20 [ Q21 [Q22]Q23[ Q24 [ 025 [ Q26 | 927 ] Q28 [ 929 [ Q30

4 3 4 i 3 1 4 2 3 1 2 3 4

31)a)Fungi :

b)Fungi reproduces by asexual reproduction but animals reproduces by sexual
reproduction. :

c)Photosynthesis.

32)a)Stage C. Its leaves have already grown, thus the plant can photosynthesize and
make its own food. ‘

b)It has to ensure its seeds are dispersed far away from other plants, to avoid
overcrowding.

33)a)A.

b)A has a wing-like structure seed, thus enabling the wind to carry it far away but
B’s seeds are dispersed by the force of explosion and its seeds are round and hard.
A’s seeds have a larger exposed surface area than B’s seeds, as A has a larger
exposed surface area, it can “surf” on the wind for a longer time to be carried further
than B’s seeds.
34)a)i)pure water ii)sugar solution

b)It is-a plant cell. A plant cell has a cell wall and a cell wall is to retain the plant
cell’s shape, thus not allowing the cell to change its shape whether it is put in pure
water or sugar solution.

35)a)P>C>A>B
b)A
c)P—>§—>j\—>B

D
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Answer Key


36)a)lIts body is small and narrow.
b)It helps the insect to hide from its predators easily so as to not be eaten by
them.

37)a)i)Photosynthesis.
ii)C,E. The plant used the carbon dioxide given out by itself for photosynthesis
and the oxygen produced by photosynthesis for respiration.
b)i)The plant survived but the rat died.
ii)The rat had no food as he only gave it water but the plant could make food for
its elf and had water.

38)a)C. It absorbed the most oil and let the least amount of oil to pass through, the
purpose of the kitchen towel.

~ b)She carried out a fair experiment. Only one variable was changed which is the
materials used as the “filter”.

39)The gravitational potential energy the balf possessed on the table was converted
to kinetic energy. When it bounced, some of the energy was lost as sound and heat
energy, so not all the energy will convert back to gravitational potential energy when
the ball bounced up.

40)a)Air expands when it is heated. When the flask was put in the hot water, this
caused the air inside the flask to be heated, causing it to expand and push the cork
out. :

b)As the volume of conical flask increased, the time for the cork to pop out also
increased.

c)He could pour more water of 90°C into the water trough.

41)a)rain water vapour
i A

Plants
b)P,R, T
aQ
d)It warms the earth, causing more water vapour to evaporate from the rivers

and seas, thus there would be more clouds and rain.

42)a)
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42)b)Bulbs can be controlled at 3 different locations. -
43)a) |

Extension of spring Y (em)
vy e

(Y]

Mass of welght (q)

b)The spring had probably reached its elastic limit.

c)Z. Z extends longer than Y when stretched thus it will allow him to shoot a
further distance.

44)a)

Temperature Cont ainey B
of water (°C)
. Container Q
Contathe VV
L _, Time (minutes)
¢} 30

b)R. It is a poor conductor of heat and lost heat to the surrounding air the
slowest compared to container P and Q.
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